free fall problems.notebook November 16, 2017

While still on the top of the school (15 m high) a second egg is
thrown straight upwards with an initial speed of 8.0 m/s.

a) What is the maximum height reached by the egg?
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b) How fast is the egg traveling when it strikes the ground?
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c) How fast is the egg traveling as it passes the top of the
school on the way down?
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d) How long is the egg in the air?

>

=K m[s C\qﬂ EO\"_\"}M' ¥ ‘2‘3‘(5’(31
qj = 9.g Ml&l Y_o\c)w,:} S\ = ¥t %(’C\ ‘Dbe
D =21 w (down) “15= §bE -y q
M=) 19t —gak -15= 0
M= tﬁ(—%\l*\(\\ﬁ\(-lS)
2(4.4)
= %+ J1253
19
A{,\-_ ?'\‘\@ b&l’-%- jzsg




free fall problems.notebook November 16, 2017

Some helpful guidelines:
When an object is dropped...

Vi = O

Vix Q \lje=\mo~x\)

When an object is launched upwards and lands at the same
height...

Ad = O

When an object reaches it's maximum height...

v=0_0
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